{ i ] 4
I~ \ /\
A _ -
2F 3 N\
S| < —1—
— N 0@)
; % — |~
3|~ .52 N
a Y v
A 1 \/
99 — 13.4
- — - 18
BARS#H
522 p Ik 3x16awg B 5 IP67
SRR i/ 4ER e g M12x1
EE=1 S e/ HE R kA =100
REWMR PA66 ZiE TH
il = # R HiEES 0 E HR 12A
“aig e =100MQ BEHE 630V
FHEE —25°C~+85°C
5 U 4x16awg BiirEg IP67
SRR /48R L M12x1
EE-4 A8 R/ R kAW =100
REWMR PA66 =HE TH
fil =2 #4 R HiEES i E BR 12A
iz Pe =100MQ BEHE 630V
FHEE —25°C"+85°C
[T ES
- _ _
. To) = 1
© @) _ — | %
= = 3 a
] = L]
. 135 3 3
M16x1.5 PGY M16x1.5 PGY LIEEs
U= FFLRT B= FAR~F
3%t TFE12S3M. 02HP PG9 3%t | TFE12S3M.03HP | M16x1.5
45t TFE12S4M. 02HP PG9 4%t | TFE12S4M. 03HP | M16x1.5 S_%I'_WZ_PCB

PG9/M16x1. 5-1R f5 H KE

£ 7

HH#

EETEBESHERAF

3

A






